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QUESTION 1

Which three are capabilities of the dbaascli utility? (Choose three.) 

A. Patching the primary database deployment 

B. Open port 1521 in the VCN to allow for traffic to the listener 

C. Start and open the database instance 

D. Switchover and failover in an Oracle Guard configuration 

E. Clone a DB 

Correct Answer: ACD 

https://docs.oracle.com/en/cloud/paas/database-dbaas-cloud/csdbi/dbaascli.html Using the dbaascli utility, you can: 

Change the password of a database user. 

Start and stop a database. 

Start and stop the Oracle Net listener 

Check the status of the Oracle Data Guard configuration. Perform switchover and failover in an Oracle Data Guard
configuration. 

Patch the database deployment. 

Perform database recovery. 

Rotate the master encryption key. 

https://docs.oracle.com/en/cloud/paas/database-dbaas-cloud/csdbi/dbaascli.html 

 

QUESTION 2

You have an application running on Oracle Cloud Infrastructure. You Identified that the read and write operations are
slowing your application down enough to impair user access. The application is currently using a VM.Standard2.1
compute without any block storage attached to it. Which two options allow you to increase disk IOPS performance? 

A. Terminate the compute instance preserving the boot volume. Create a new compute instance using the
VM.DenseI02.8 shape using the boot volume preserved and use the NVMe devices to host your application. 

B. Terminate the compute instance preserving the boot volume. Create a new compute instance using the
VM.Standard2.2 shape using the boot volume preserved and attach a new block volume to host your application. 

C. Terminate the compute instance preserving the boot volume. Create a new compute instance using the
VM.Standard2.2 shape using the boot volume preserved, but no block volume attached. 

D. Terminate the compute instance preserving the boot volume. Create a new compute instance using the BM.GPU2.2
shape using the boot volume preserved, but no block volume attached. 
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Correct Answer: AD 

 

QUESTION 3

You are managing a tier-1 OLTP application on an Autonomous Transaction Processing (ATP) database. Your business
needs to run hourly batch processes on this ATP database that may consume more CPUs than what is available on the 

server. 

How can you limit these batch processes to not interfere with the OLTP transactions? 

A. Configure ATP resource management rules to change CPU/IO shares for the consumer group of batch processes. 

B. Copy OLTP data into new tables in a new table space and run batch processes against these new tables. 

C. Disable automated backup during the batch process operations. 

D. ATP is designed for OLTP workload only, you cannot run batch processes on ATP. 

Correct Answer: A 

Autonomous Transaction Processing comes with predefined CPU/IO shares assigned to different consumer groups.
You can modify these predefined CPU/IO shares if your workload requires different CPU/IO resource allocations. 

By default, the CPU/IO shares assigned to the consumer groups TPURGENT, TP, HIGH, MEDIUM, and LOW are 12, 8,
4, 2, and 1, respectively. The shares determine how much CPU/IO resources a consumer group can use with respect
to 

the other consumer groups. With the default settings the consumer group TPURGENT will be able to use 12 times more
CPU/IO resources compared to LOW, when needed. The consumer group TP will be able to use 4 times more CPU/IO 

resources compared to MEDIUM, when needed. 

 

QUESTION 4

Which two are NOT an image source when launching a new compute instance? (Choose two.) 

A. boot volume 

B. custom image 

C. Object Storage 

D. bare metal instance 

Correct Answer: CD 

 

QUESTION 5

Which statement is true regarding Autonomous Transaction Processing (ATP)? 
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A. A database name cannot be used concurrently for both an Autonomous Data Warehouse (ADW) and an ATP
database 

B. After terminating a database, the database name is available for immediate reuse 

C. A maximum of 8 cores can be enabled for an ATP database 

D. A maximum of 2 TB of storage can be enabled for an ATP database 

Correct Answer: A 

The database name must be unique among all Autonomous Data Warehouses and Autonomous Databases in your
tenancy in the same region. 

Terminating an Autonomous Transaction Processing database permanently deletes the instance and removes all
automatic backups. You cannot recover a terminated database. the maximum number of CPUs and maximum storage
capacity that can be provisioned in Oracle Autonomous Database In the current release up to 128 CPUs and 128TB can
be provisioned from the cloud console. Customers requiring more resources need to call their Oracle account team 
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